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BNGLISH VERSION

1 Ram Prakashan having two investment options. In each 14
project investment is required of Rs. 1,00,000. Estimated life
5 years. Expected rate of return 10%. Tax rate 50%.
Depreciation as per SLM. Estimated cash inflow for each
project are as follows :

Year Option A Option B
1 40,000 60,000
2 40,000 30,000
3 40,000 20,000
4 40,000 50,000
5 40,000 50,000

Evaluate both the option and give your opinion for
investment with the help of following methods.
(1) Pay Back Period
(2) Average Rate of Return
(3) Net Present Value

OR

[y
&

Explain meaning, process and features of Capital
Budget.

(b) Explain advantages and disadvantages of Pay
Back Period method.

[y
o~
g

e

2 Ram and Shyam both companies belongs to same risk 14

group. Both are identical in all respect except that Ram is

a levered company while Shyam is a unlevered company.
Ram include 6% debentures of Rs. 8,00,000. Total of assets

of both the companies Rs. 20,00,000 and both earn return
20% before tax and interest. Tax rate 50%. Equity
capitalization rate Ke = 10%.

(1) Cost of capital and value of Ram and Shyam as per

NI Approach.
(2) Value of Ram and Shyam as per NOI Approach.

OR

2  Explain concept of capital structure. And also explain 14
factors affecting capital structure.
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8  The following is the balance sheet of Rohit Ltd. as 14

on 31.3.2016 :
Liabilities Rs.| Assets Rs.
Share Capital : Fixed Assets

Authorized, Issued Frechold property

and paid up (cost Rs. 36,00,000) 31,00,000
5% 700000 cum: Leaschold Property

Pref. shares of {Cost. 100000) 90,000
Rs. 10 each 70,00,000| Plant ete. (cost
500000 equity Rs. 1240000) 6,40,000
shares of Investments :

Rs. 10 each 50,00,0001 Quoted shares Market
Reserves and Surplus Value : 10,00,000 2,00,000
Share Premium 9,60,000| Trade Investments 8,00,000
Profit and Loss Alc. 52,40,000| Unquoted shares 4,00,000
Taxation Reserve 28,00,000| Shares of subsidary
Current Liabilities Company 16,00,000
and Provisions Current Assets, Loan

Creditors 76,40,000| and Advances
Bank O.D. 2,00,000| Stock 38,410,000
Payable to subsidiary Debtors 80,00,000
Company 5,60,000| Cash on hand and
Unclaimed Dividend 10,000} in Bank 4.,00,000
Provisions : Due from subsidiary
Pref. share Company 80,00,000
Dividend 20,000 | Bills Receivable 35,00,000
Equity share Prepaid expenses 5,00,000
Dividend 6,60,000| Preliminary Expenses 1,00,000
Provision for

Taxation 10,80,000

3,11,70,000 3,11,70,000

The following additional information is available :

(1) Additions to the balances of original costs of assets
necessary to convert to replacement costs :

Freehold Property ......cocceeeee. 20,00,000
Leasehold Property ........ccoceeneeee. 80,000
Plant et .o 6,00,000
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(2) Sharves held in subsidiary companies are currently

valued at Rs. 20,00,000. The patents and trade marks

have a market value of Rs. 6,00,000 which is conservative
estimate of the price which could be obtained if they
were sold.

Trade investments are valued at Rs. 9,60,000 and

unquoted investments at Rs. 6,00,000. The quoted

investments are not connected with the normal
operations of the company.

(4) Stocks : Adjustments required are as follows :
Increase in value of raw materials contained in stocks
figure is Rs. 8,00,000 and obsolete components included
in stocks Rs. 20,000 to be written off.

(5) Goodwill of Rs. 1,60,000 represents the extra amount
paid for a company which has now gone into liquidation.

(6) The profit for the year is Rs. 60,00,000.

(7) Additional depreciation based on the new replacement
costs is as follows :

omny
w2
g

Freehold Property ..................... 1,00,000
Plant ete. .ooeeeeeeeeeeeeeeeeeee . 60,000
Leasehold Property ....................... 8,000
Patents and Trademark.............. 60,000

(8) Legal costs of an exceptional nature deducted in
arriving at the profit for the year is Rs. 60,000.
Interest on Bank overdraft is Rs. 10,000.

(9) Surplus obtained from the favourable movement of

foreign exchange included in the profit for the year
Rs. 80,000.

(10) Sales made in previous year amount to Rs. 20,00,000
on which the estimated profit is 2,20,000. This figure
has been included in the current year’s profit.

(11) On the other hand profit on completed contracts not
yet brought into the accounts amounts to Rs. 1,20,000.

(12) Goodwill written off in the current year’s accounts is
Rs. 40,000.

(13) Loss on sale of machinery debited to current year’s
Profit and Loss Account is Rs 10,000.

(14) Income from quoted investments included in the Profit
for the year amount to Rs. 1,00,000.
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fFrom the above information find ouf :
(1) Return on Gross Capital Employed
(2) Return on Net Capital Employed.

Ju—
IS

Explain meaning and concept of capital employed and
also explain advantes of veturn on capital employed.

From the following prepare cash budget for the period of 14
1* June to 31 August :
The opening cash Balance would be 1,00,000

Month | Sales | Purchase | Wages | Factory | Selling and
Exp. Dist Exp.
April 80,000 | 41,000 5,600 3,900 10,000
May 76,500 | 40,500 5,400 4,200 14,000
June 78,500 | 38,500 5,400 5,100 15,000
July 90,000 | 37,000 4,800 5,100 17,000
August | 95,500 | 35,000 4,700 6,000 13,000

Commission at 5% of sales is to be paid after two
months of sale. Machinery purchased for Rs. 65,000 in
August, payable in August. The dividend of last year for
Rs. 15,000 will be paid in July. Period of credit allowed by
suppliers and to customers is 2 months.

OR

(a) Describe advantages and disadvantages of 7
Cash Budget.

() Explain different methods for preparing Cash Budget. 7

Explain advantage and disadvantage of uniform costing. 14

OR
() Describe importance of interfirm comparison. 7
(b) Explain objectives of Interfirm comparison. 7
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